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àíZ 1. 

 
 XrKm}Îmar àíZ gmoS>dm (H$moUVohr XmoZ) 

 
(40) 

1. emgH$s¶ H$m¶©dmhr Am{U {dXoer ì¶mnma¶wº$ CËnÞmMm dVw©imH$ma àdmhmda H$gm n[aUm‘ hmoVmo Vo 
AmH¥$VrÀ¶m ‘XVrZo ñnï> H$am. 

 

2. "AW©ì¶dñWoV A{V[aº$ CËnmXZmMr qH$dm g‘J« ‘mJUrÀ¶m H$‘VaVoMr n[apñWVr {Z‘m©U hmoV 
Zmhr' ¶m {dYmZmMo go ¶m§À¶m ~mOmamÀ¶m {gÕm§VmÀ¶m AmYmao ñnï> H$am. 

 

3. JwUH$ n[aUm‘ åhUOo H$m¶? JwUH$mMr à{H«$¶m {dñV¥VnUo ñnï> H$am.  
4. ‘hÎm‘ gm‘m{OH$ bm^mMo VËd ñnï> H$am.  

   
àíZ 2. WmoS>³¶mV CÎmao {bhm. (H$moUVohr VrZ) (30) 

1. amï´>r¶ CËnÞ ‘moOÊ¶mÀ¶m nÕVr ñnï> H$am.  
2. àË¶j H$a Am{U AàË¶j H$a KmVrb ’$aH$ ñnï> H$am.  
3. Cn^moJ H$m¶m©Mo ‘hÎd ñnï> H$am.  
4. ~MV-Jw§VdUyH$ g‘mZVoÀ¶m g§X^m©V gZmVZ n§Wr¶ AW©emók Am{U Ho$Zo{e¶Z Ñ{ï>H$moZmVrb 

’$aH$ ñnï> H$am. 
 

5. AmYw{ZH$ AW©ì¶dñWoÀ¶m g§X^m©V n¡emMr H$m¶} ñnï> H$am.  
   

àíZ 3. Q>rnm {bhm. (H$moUË¶mhr XmoZ) (30) 
1. {Zìdi amï´>r¶ CËnmXZ  
2. CVnÞmMm dVw©iH$ma àdmhmMo ‘hÎd  
3. àË¶j H$am§Mo ’$m¶Xo  
4. nÌ ‘wÐmMo àH$ma  
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Sub: Macro Economics (Part-I) (EC-302) 
Translation in English  

 
 

Instructions:  Attempt all questions.  

 

Q.1. 

 

Answer in detail (Any Two)  

 

(40) 

1. Explain how government’s intervention and foreign trade affects circular flow of 
income with the help of diagram 

 

2. ‘Over production or fall in aggregate demand is not possible in an economy’. 
Explain this statement with context to Say’s law of market 

 

3. What is the multiplier effect? Elaborate the process of multiplier  

4. Explain the principle of maximum social advantage  

   
Q.2. Answer in brief (Any Three) (30) 

1. Explain the method measuring national income  

2. Explain the difference between direct and indirect taxes  

3. Explain the importance of consumption function  

4. Explain the difference between the classical view and Keynesian view in context of 
saving-investment equality 

 

5. Explain the functions of money in context of modern economy  

   
Q.3. Write short notes. (Any Two) (30) 

1. Net national product  

2. Importance of circular flow  

3. Advantages of direct taxes  

4. Types of paper money  

___________________ 


